
 
 
  Doing the business with Helen “????”
 
  2’s Day
 
  Have We Pre-Paired-4 The Vagina “????”
 
  OUT( 4 ( “????” ) ) 

  
 
          4 discrete “fundamental” (quality)  are  able  to  “exist”  in

           2 discrete “fundamental” (way).  
  

   
                 ????”   is the packet of information or “discrete entity” 

                        that possesses the specified “fundamental” (quality). 
  

           “????”   is an arbitrary packet of information or “discrete entity”. 
  

  
           “fundamental” (quality) :- 

 
               1)     OUT

  
                           :-    “????”   can conceive                              “????”

  
               2)     OUT ( “????” ) 

  
                            :-    “????”   can understand

                                       the combined information
                                       of two instances of                     “????”

  
               3)     OUT ( 2 ( “????” )) 

  
                            :-    “????”   can understand

                                       the existence of two discrete     “????”
  

               4)     OUT ( 4 ( “????” )) 
  

                            :-    “????”   can conceive
                                       the combined information

                                       of two discrete instances of       “????”
  

 
 
 


